£2/90/CC

lower rib

ATOM ONLY STOCKS
PARTS SHOWN. OTHER
ENGINE PARTS REFER
TO HONDA DEALER




28/06/2022

ATOM PRODUCT: HONDA ENGINE GX25 REF NO: 774
- Substitute Substitute
2 Part No Part No Description Part No Part No Description
1 40650 SCREW M5Xx36 64259 GX25/35 NUT SELFLOCK
3 |43966RN GX25 AIR DEFECTOR 64260 GX25 RND PLATE
4 |46130 BOLT 5x30 64261 GX25 RND FILTER
8 |48101 OIL 8OML 64262 SQ AIR FILTER COVER
9 |62968 PRO CARBY CONN M6x1 64263 SQ FILTER ELEMENT
10 [63169 NUT M6éx1 64264 SQ AIR FILTER BASE
11 [65139-EU5 ENG GX25 SATS w/0 COVERS 64265 GX25/35 CARB O-RING 14.8x2.4
12 |63355 GROUND WIRE 64266 CARBURETTOR
13 (63457 WASHER 6.4x12.5x1.5 64267 STD GASKET CARBY
14 |63553 CLUTCH BOLT M6 64268 GX25/35 BOLT SOCKET M5x16
15 63554 CLUTCH WASHER WAVY 64269 STD SHROUD MANIFOLD
16 [63555A CLUTCH ASSY GX25 64270 GX25/35 HEX BOLT M5x53
17 |63556 CLUTCH WASHER FLAT 64272 RECOIL STARTER ASSY
18 [63614 FUEL FILTER 64274 GX25/35 TANK MOUNT RUBBER
19 [63615 CLIP, HOSE, STEEL 64275 FUEL TANK
20 |63806RN GX25 MOUNT/FAN COVER 64277 TANK GUARD
21 |63806RNM GX25 MOUNT/FAN COVER #550 64280 MUFFLER STUDS 2.5x4.2
22 |63974KM MOD MOUNT/COWL KIT #550 64281 STD METAL MUFFLER PLATE
25 164205 PLATE SQ FILTER 64282 GX25/35 BOLT SOCKET M5x10
3364290 GX25/GX35 GROMMET FUEL TANK 64283 MUFFLER W/0 NOZZLE
34 |64249 STD COIL 50MM 64285 CUP EXH SPARL ARRESTOR
35 /64250 GX25 MK2 BL COIL 150mm 64287 EXH NOZZLE SCREW
36 |64251 FLYWHEEL 64288 63806RN MOUNT/FAN COVER
37 |64252 NUT FLANGE 7MM 64248 GX25 BL EXT NOZZLE
38 |64254 GX25/35 BOLT M4 x 14 64949 GX25 M5x15 SCREW COVER
40 |64256 GX25 STD COVER
4164257 GX25 RND FILTER COVER
42164258 GX25 RND AIR FILTER




